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                                                 Ejemplo de actividades 

                                                  Cálculo Nº5 
 

Solución ___________________________________________________________________________ 
 

▪ 3.945´26 x 3´79 = 14.952´5354 

▪ 78´409 x 8´57 = 671´96513 

▪ 25.876 : 148 = 114   R. 124 

▪ 83´765 : 72 = 1´163   R. 0´029 

▪ 7´498 : 29 = 0´258   R. 0´016 

▪ 5 x 8 + (9 x 2 – 7) + 10 = 61 

▪ (7 + 3) : 10 + 4´2 x 10 : 6 x 2 = 15 

▪ (5´1 + 1´6 – 4) x 10 + 13 = 40 

▪ [(
𝟓

𝟗
+ 

𝟕

𝟗
) − (

2

9
+  

6

𝟗
)] x (

4

7
+  

8

7
) = 

𝟏𝟔

𝟐𝟏
 

▪ (2 + 
8

3
)x 

𝟐

𝟒
 +(

𝟓

𝟔
𝐱 

𝟔

𝟐
)  = 

𝟐𝟗

𝟔
 

 

 

 

 

  

  

 

  

 

 

 

 

 

 

 

 

8 3´7 6 5 7 2 

 1´1 6 3 
 

1 1 7 
   4 5 6 
      2 4 5 
         2 9 
             
          

    PRUEBA 

 
     1´1 6 3 
    x    7 2 
     2 3 2 6 
 8 1 4 1__ 
 8 3´7 3 6 

    0´0 2 9 

 8 3´7 6 5 

                                

+ 

+ 

         3.9 4 5´2 6 
       x         3´7 9 
       3 5 5 0 7 3 4  
    2 7 6 1 6 8 2 
 1 1 8 3 5 7 8___ 
1 4.9 5 2´5 3 5 4 

 

         7 8´4 0 9 
       x       8´5 7 
       5 4 8 8 6 3  
    3 9 2 0 4 5 
 6 2 7 2 7 2___ 
 6 7 1´9 6 5 1 3 

 

2 5.8 7 6 1 4 8 

 1 7 4 1 1 0 7 
   0 7 1 6 
      1 2 4 
          

    PRUEBA 

 
         1 7 4 
    x  1 4 8 
      1 3 9 2 
     6 9 6 
  1 7 4___  
  2 5.7 5 2 
        1 2 4 

  2 5.8 7 6 

                                

+ 

+ 
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5 x 8 + (9 x 2 – 7) + 10 
5 x 8 + (18 – 7) + 10 

5 x 8 + 11 + 10 
40 + 11 + 10 

51 + 10 
61 

 

(7 + 3) : 10 + 4´2 x 10 : 6 x 2 
10 : 10 + 4´2 x 10 : 6 x 2 

1 + 4´2 x 10 : 6 x 2 
1 + 42 : 6 x 2 

1 + 7 x 2 
1 + 14 

15 
 

7´4 9 8  2 9 

0´2 5 8 
 

1 6 9  
   2 4 8 
      1 6 
       
          

     PRUEBA 

 
       0´2 5 8  
      x     2 9 
         2 3 2 2  
    0 5 1 6___ 
    0 7´4 8 2 

       0´01 6 

    0 7´4 9 8 

                                

+ 

+ 

[(
5

9
+  

7

9
) − (

2

9
+  

6

9
)] x (

4

7
+ 

8

7
)  

[
12

9
− (

2

9
+  

6

9
)] x (

4

7
+ 

8

7
) 

[
12

9
−

8

9
] x (

4

7
+  

8

7
) 

4

9
 x (

4

7
+ 

8

7
) 

4

9
 x 

12

7
 

48

63
   =   

𝟏𝟔

𝟐𝟏
 

 
 

 

(5´1 + 1´6 – 4) x 10 + 13 
(6´7 – 4) x 10 + 13 

2´7 x 10 + 13 
27 + 13 

40 
 

(2 +  
8

3
) x 

2

4
 + (

5

6
x 

6

2
)   

14

3
x 

2

4
 + (

5

6
x 

6

2
)   

14

3
x 

2

4
 + 

30

12
   

28

12
 + 

30

12
   

58

12
   =    

𝟐𝟗

𝟔
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